

**BOUNDS FOR THE MAXIMUM MODULUS OF POLYNOMIAL NOT VANISHING IN
A DISK**

By

Roshan Lal

Department of Mathematics

V.S.K.C. Government Postgraduate College, Dakpathar

Dehradun-248125, Uttarakhand, India

Email:rlkeshtwal@gmail.com

(Received : March 23, 2020 ; Revised: April 30, 2020)

DOI: <https://doi.org/10.58250/jnanabha.2020.50109>

Abstract

Let $p(z)$ be a polynomial of degree n . We have several results for the bounds of maximum modulus of polynomial in terms of coefficients of polynomial and radius of the disk having no zeros in it. In this paper we have proved some results for the bounds of maximum modulus of polynomial not vanishing in a disk of greater or smaller than unity. Our results improve the earlier proved results.

2010 Mathematics Subject Classifications: 26A15, 26A10

Keywords and phrases: Polynomials, zeros, bounds, inequalities, maximum modulus of polynomials.

1 Introduction and Statement of Results

Let $p(z)$ be a polynomial of degree n . Let us define $m = \min_{|z|=k} |P(z)|$ and $M(p, r) = \max_{|z|=r} |P(z)|$.

Concerning the estimate for the maximum modulus of a polynomial on the circle $|z| = R$, $R > 0$, in terms of its degree and the maximum modulus on the unit circle, we know that for every $R \geq 1$,

$$(1.1) \quad \max_{|z|=R} |p(z)| \leq R^n \max_{|z|=1} |p(z)|.$$

The result is best possible for the polynomial having all its zeros at origin.

Inequality (1.1) is a simple deduction from the maximum modulus principle (for reference see [8] or [11]).

For the polynomial of degree n and the case $r \leq 1$, we have the following result due to Varga [13] who attributed it to Zerrantonello.

$$(1.2) \quad \max_{|z|=r} |p(z)| \geq r^n \max_{|z|=1} |p(z)|.$$

Again the result is best possible for the polynomial having all its zeros at origin.

For the class of polynomials having no zeros in $|z| < 1$, the inequalities (1.1) and (1.2) are sharpened by Ankeny and Rivlin [1] and Rivlin [12], by proving following inequality (1.3) and inequality (1.4) respectively

$$(1.3) \quad \max_{|z|=R \geq 1} |p(z)| \leq \frac{R^n + 1}{2} \max_{|z|=1} |p(z)|,$$

$$(1.4) \quad \max_{|z|=r} |p(z)| \geq \left(\frac{1+r}{2} \right)^n \max_{|z|=1} |p(z)|.$$

Aziz and Dawood [3] improved inequality (1.3) under the same hypothesis as

$$(1.5) \quad \max_{|z|=R \geq 1} |p(z)| \leq \left(\frac{R^n + 1}{2} \right) \max_{|z|=1} |p(z)| - \left(\frac{R^n - 1}{2} \right) \min_{|z|=1} |p(z)|.$$

There are several results concerning the refinement and generalizations of above mentioned inequalities (see [5], [7] and [14]).

For the case $0 < \rho \leq 1$, when polynomial does not vanish in $|z| < k$, $k \geq 1$ we have the following inequality due to Aziz [2].

$$(1.6) \quad \max_{|z|=\rho} |p(z)| \geq \left(\frac{\rho + k}{1 + k} \right)^n \max_{|z|=1} |p(z)|.$$

The result is sharp and equality in (1.6) is attained for $p(z) = c(ze^{i\beta} + k)^n$, $c(\neq 0) \in C$ and $\beta \in R$.

Inequality (1.6) was improved by Govil, Qazi and Rahman [6] by introducing coefficients of polynomial under consideration in it as following

Theorem 1.1. Let $p(z) = \sum_{j=0}^n a_j z^j$ does not vanish in $|z| < k$, $k \geq 1$ and let $\lambda = \lambda(k) = \frac{ka_1}{na_0}$. Then for $0 < \rho \leq 1$,

$$(1.7) \quad \max_{|z|=\rho} |p(z)| \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} |p(z)|.$$

In the case when n is even equality in (1.7) is attained for

$$p(z) = c(z^2 e^{i2\beta} + 2kz e^{i\beta} \cos \alpha + k^2)^{\frac{n}{2}}, \quad c(\neq 0) \in C \text{ and } \alpha, \beta \in R.$$

The following result is also due to Govil, Qazi and Rahman [6] and is complement to **Theorem 1.1**.

Theorem 1.2. Let $p(z) = \sum_{j=0}^n a_j z^j$ does not vanish in $|z| < k$, $k \in (0, 1)$ and let $\lambda = \lambda(k) = \frac{ka_1}{na_0}$. Then for $0 \leq \rho \leq k^2$

$$(1.8) \quad \max_{|z|=\rho} |p(z)| \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} |p(z)|.$$

In the case when n is even equality in (1.8) is attained for

$$p(z) = c(z^2 e^{i2\beta} + 2kz e^{i\beta} \cos \alpha + k^2)^{\frac{n}{2}}, \quad c(\neq 0) \in C \text{ and } \alpha, \beta \in R.$$

Recently, Mir et al. [7] proved the following interesting result and generalized a result due to Govil and Nwaeze [5] and many other results improving the **Theorem** of T. J. Rivlin [12].

Theorem 1.3. Let $p(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \leq \mu < n$ be a polynomial of degree n that does not vanish in $|z| < k$, $k \geq 1$. Then for $0 < r < R \leq 1$,

$$(1.9) \quad M(p, r) \geq \frac{(1 + r^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}} + (R^\mu + r^\mu)^{\frac{n}{\mu}} - (k^\mu + r^\mu)^{\frac{n}{\mu}}} \left\{ M(p, R) + m \ln \left(\frac{(R^\mu + k^\mu)^{\frac{n}{\mu}}}{(r^\mu + k^\mu)^{\frac{n}{\mu}}} \right) \right\},$$

where $m = \min_{|z|=k} |p(z)|$ and $M(p, r) = \max_{|z|=r} |p(z)|$ etc.

2 Main Theorems

In this paper, firstly we prove the following result for the class of polynomials not vanishing in a prescribed disk, which improves upon the bound obtained by **Theorem 1.1**.

Theorem 2.1. Let $p(z) = \sum_{j=0}^n a_j z^j \neq 0$ for $|z| < k$, $k \geq 1$ and let $\lambda = \lambda(k) = \frac{ka_1}{na_0}$. Then for $0 < \rho \leq 1$, we have

$$(2.1) \quad \max_{|z|=\rho} |p(z)| \geq \left(\frac{\rho^2 + 2|\lambda|k\rho + k^2}{1 + 2|\lambda|k + k^2} \right)^{\frac{n}{2}} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left\{ \left(\frac{\rho^2 + 2|\lambda|k\rho + k^2}{1 + 2|\lambda|k + k^2} \right)^{\frac{n}{2}} - \rho^n \right\} \min_{|z|=k} |p(z)|.$$

In the case where n is even, equality in (1.9) is attained for

$$p(z) = c(z^2 e^{i2\beta} + 2kze^{i\beta} \cos \alpha + k^2)^{\frac{n}{2}}, \quad c(\neq 0) \in \mathbb{C} \text{ and } \alpha, \beta \in \mathbb{R}.$$

The above inequality (2.1) always gives better bounds than inequality (1.7) except in the case when $\min_{|z|=k} |p(z)| = 0$.

Next we prove the following result, which is complement to **Theorem 2.1**, for the class of polynomials not vanishing in a disk of radius less than (or equal) unity and also improves upon **Theorem 1.2**.

Theorem 2.2. Let $p(z) = \sum_{j=0}^n a_j z^j$ does not vanish in $|z| < k$, $k \in (0, 1)$ and let $\lambda = \lambda(k) = \frac{ka_1}{na_0}$. Then for $0 \leq \rho \leq k^2$

$$(2.2) \quad \max_{|z|=\rho} |p(z)| \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} |p(z)| + \frac{1}{k^n} \left\{ \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} - \rho^n \right\} \min_{|z|=k} |p(z)|.$$

In the case when n is even equality in (2.2) is attained for

$$p(z) = c(z^2 e^{i2\beta} + 2kze^{i\beta} \cos \alpha + k^2)^{\frac{n}{2}}, \quad c(\neq 0) \in \mathbb{C} \text{ and } \alpha, \beta \in \mathbb{R}.$$

Finally, we prove the following interesting result, which improves upon **Theorem 1.3** by Mir et al. [7] and hence also generalizes and improves upon all those results which are claimed to be improved by **Theorem 1.3** as well.

Theorem 2.3. Let $p(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \leq \mu < n$ be a polynomial of degree n that does not vanish in $|z| < k$, $k \geq 1$. Then for $0 < r < R \leq 1$,

$$(2.3) \quad M(p, r) \geq \frac{(1 + r^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}} + (R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}} \left[M(p, R) + \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{R^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} - 1 \right\} + \ln \left(\frac{R^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} \right] \min_{|z|=k} |p(z)| \right].$$

Here, the integral I_n is defined as

$$(2.4) \quad I_n = \int_r^R \frac{t^{n+\mu-1}}{t^\mu + k^\mu} dt.$$

Here, the integrand being a rational algebraic function can be evaluated by reduction formulae for a given value of n . For example, $I_0 = \frac{1}{2} \ln \left(\frac{R}{k} \right)$ and $I_1 = (R - r) - k \ln \left(\frac{R+k}{r+k} \right)$.

Remark 2.1. The integrand in (2.4) is increasing function of t , so the least approximate value of I_n can be taken as $\left(\frac{n(R - r)r^{n+\mu-1}}{k^n(r^\mu + k^\mu)} \right)$.

3 Lemmas

For the proof of the *Theorems*, we need the following lemmas.

Lemma 3.1. Let $p(z) = a_0 + \sum_{\nu=\mu}^n a_\nu z^\nu$, $1 \leq \mu \leq n$ is a polynomial of degree n having no zeros in $|z| < k$, $k \geq 1$. Then

$$(3.1) \quad \max_{|z|=1} |p'(z)| \leq \frac{n}{1+k^\mu} \left\{ \max_{|z|=1} |p(z)| - \min_{|z|=1} |p(z)| \right\}.$$

The result is sharp and equality holds for the polynomial $p(z) = (z^\mu + k^\mu)^{\frac{n}{\mu}}$.

The above **Lemma 3.1** is due to Pukhta [9].

The next **lemma** is due to Bidkham and Dewan [4].

Lemma 3.2. Let $p(z) = a_0 + \sum_{j=\mu}^n a_j z^j$, $1 \leq \mu \leq n$ is a polynomial of degree n , having no zeros in $|z| < k$, $k \geq 1$. Then for $0 < r < R \leq 1$,

$$(3.2) \quad \max_{|z|=r} |p(z)| \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=R} |p(z)|.$$

We improve the above **Lemma 3.2** as follows.

Lemma 3.3. Let $p(z) = a_0 + \sum_{j=\mu}^n a_j z^j$ is a polynomial of degree n , having no zeros in $|z| < k$, $k \geq 1$. Then for $0 < r < R \leq 1$,

$$(3.3) \quad \max_{|z|=r} |p(z)| \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=R} |p(z)| + \left\{ \frac{R^n}{k^n} \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} - \frac{r^n}{k^n} \right\} \min_{|z|=k} |p(z)|.$$

Proof. [Proof of Lemma 3.3] Since $p(z)$ does not vanish in $|z| < k$, $k \geq 1$ and $|p(z)| \geq m = \min_{|z|=k} |p(z)|$, therefore by Rouché's theorem, the polynomial $F(z) = p(z) + \lambda \frac{z^n}{k^n} m$, $|\lambda| < 1$, also does not vanish in $|z| < k$, $k \geq 1$. Therefore on applying inequality (3.2) to the polynomial $F(z) = p(z) + \lambda \frac{z^n}{k^n} m$, we have

$$\max_{|z|=r} \left| p(z) + \lambda \frac{z^n}{k^n} m \right| \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=R} \left| p(z) + \lambda \frac{z^n}{k^n} m \right|,$$

or

$$(3.4) \quad \max_{|z|=r} |p(z)| + |\lambda| \frac{r^n}{k^n} m \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \left(\max_{|z|=R} |p(z)| + |\lambda| \frac{R^n}{k^n} m \right).$$

Now suitably choosing the argument of λ such that R.H.S. of inequality (3.4) becomes

$$(3.5) \quad \max_{|z|=R} \left| p(z) + \lambda \frac{z^n}{k^n} m \right| = \max_{|z|=R} |p(z)| + |\lambda| \frac{R^n}{k^n} m.$$

Now combining inequalities (3.4) and (3.5), we get

$$\max_{|z|=r} |p(z)| + |\lambda| \frac{r^n}{k^n} m \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \left(\max_{|z|=R} |p(z)| + |\lambda| \frac{R^n}{k^n} m \right).$$

Or equivalently,

$$\max_{|z|=r} |p(z)| \geq \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=R} |p(z)| + |\lambda| \left\{ \frac{R^n}{r^n} \left(\frac{k^\mu + r^\mu}{k^\mu + R^\mu} \right)^{\frac{n}{\mu}} - \frac{r^n}{k^n} \right\} \min_{|z|=k} |p(z)|.$$

Finally letting $|\lambda| \rightarrow 1$, we get the desired result.

4 Proof of the Main Theorems

Proof. [Proof of Theorem 2.1] Since $p(z)$ does not vanish in $|z| < k$, $k \geq 1$ and $|p(z)| \geq m = \min_{|z|=k} |p(z)|$, therefore by Rouché's theorem, the polynomial $F(z) = p(z) + \mu \frac{z^n}{k^n} m$, $|\mu| < 1$, also does not vanish in $|z| < k$, $k \geq 1$. Therefore on applying inequality (1.7) to the polynomial $F(z) = p(z) + \mu \frac{z^n}{k^n} m$, we have

$$\max_{|z|=\rho} |F(z)| \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} |F(z)|$$

or

$$\max_{|z|=\rho} \left| p(z) + \mu m \frac{z^n}{k^n} \right| \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} \left| p(z) + \mu m \frac{z^n}{k^n} \right|$$

or

$$(4.1) \quad \max_{|z|=\rho} |p(z)| + |\mu| m \frac{\rho^n}{k^n} \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \max_{|z|=1} \left| p(z) + \mu m \frac{z^n}{k^n} \right|.$$

Now suitably choosing argument of μ on R.H.S. of (4.1), we have

$$(4.2) \quad \max_{|z|=1} \left| p(z) + \mu m \frac{z^n}{k^n} \right| = \max_{|z|=1} |p(z)| + |\mu| \frac{m}{k^n}.$$

Combining (4.1) and (4.2) we get

$$\max_{|z|=\rho} |p(z)| + |\mu| m \frac{\rho^n}{k^n} \geq \left(\frac{k^2 + 2|\lambda|k\rho + \rho^2}{k^2 + 2|\lambda|k + 1} \right)^{\frac{n}{2}} \left\{ \max_{|z|=1} |p(z)| + |\mu| \frac{m}{k^n} \right\}$$

or

$$\max_{|z|=\rho} |p(z)| \geq \left(\frac{\rho^2 + 2|\lambda|k\rho + k^2}{1 + 2|\lambda|k + k^2} \right)^{\frac{n}{2}} \max_{|z|=1} |p(z)| + \frac{|\mu|}{k^n} \left\{ \left(\frac{\rho^2 + 2|\lambda|k\rho + k^2}{1 + 2|\lambda|k + k^2} \right)^{\frac{n}{2}} - \rho^n \right\} \min_{|z|=k} |p(z)|.$$

Finally, on letting $|\mu| \rightarrow 1$ the proof of **Theorem 2.1** is completed.

Proof. [Proof of Theorem 2.2] Proof of **Theorem 2.2** follows on the same lines as that of proof of **Theorem 2.1**. Here we use inequality (1.8) instead of (1.7). Hence we omit the details.

Proof. [Proof of Theorem 2.3] Let $0 < t \leq k$. Since $p(z)$ does not vanish in $|z| < k$, $k \geq 1$, the polynomial $F(z) = p(tz)$ does not vanish in $|z| < \frac{k}{t}$, $\frac{k}{t} \geq 1$, therefore applying **Lemma 3.1** to $F(z)$, we have

$$\max_{|z|=1} |F'(z)| \leq \frac{n}{1 + \left(\frac{k}{t}\right)^\mu} \left\{ \max_{|z|=1} |F(z)| - \min_{|z|=\frac{k}{t}} |F(z)| \right\},$$

which is equivalent to

$$(4.3) \quad \max_{|z|=t} |p'(z)| \leq \frac{n t^{\mu-1}}{t^\mu + k^\mu} \left\{ \max_{|z|=t} |p(z)| - \min_{|z|=k} |p(z)| \right\}.$$

We have, now for $0 \leq \theta < 2\pi$ and $0 < r < R \leq 1$,

$$(4.4) \quad \begin{aligned} |p(Re^{i\theta}) - p(re^{i\theta})| &\leq \int_r^R |p'(te^{i\theta})| dt. \\ |p(Re^{i\theta}) - p(re^{i\theta})| &\leq \int_r^R \frac{n t^{\mu-1}}{t^\mu + k^\mu} \left\{ \max_{|z|=t} |p(z)| - \min_{|z|=k} |p(z)| \right\} dt \quad \text{by using (4.3)} \end{aligned}$$

Now applying inequality (3.3) of **Lemma 3.3** to inequality (4.4), we get

$$|p(Re^{i\theta}) - p(re^{i\theta})|$$

$$\begin{aligned}
&\leq \int_r^R \frac{nt^{\mu-1}}{t^\mu + k^\mu} \left[\left\{ \left(\frac{t^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=r} |p(z)| - \left(\frac{t^n}{k^n} - \frac{r^n}{k^n} \left(\frac{t^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} \right) \min_{|z|=k} |p(z)| \right\} - \min_{|z|=k} |p(z)| \right] dt \\
&= \int_r^R \frac{n t^{\mu-1}}{t^\mu + k^\mu} \left(\frac{t^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} \max_{|z|=r} |p(z)| dt - n \int_r^R \frac{t^{\mu-1}}{t^\mu + k^\mu} \left[\frac{t^n}{k^n} - \frac{r^n}{k^n} \left(\frac{t^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} + 1 \right] \min_{|z|=k} |p(z)| dt.
\end{aligned}$$

The above expression is equivalent to

$$\begin{aligned}
&\left| p(Re^{i\theta}) - p(re^{i\theta}) \right| \\
&\leq \int_r^R \frac{nt^{\mu-1}}{(r^\mu + k^\mu)^{\frac{n}{\mu}}} (t^\mu + k^\mu)^{\frac{n}{\mu}-1} \max_{|z|=r} |p(z)| dt \\
&\quad - n \min_{|z|=k} |p(z)| \int_r^R \left[\frac{t^{n+\mu-1}}{(t^\mu + k^\mu)k^n} - \frac{r^n}{k^n} \frac{t^{\mu-1}(t^\mu + k^\mu)^{\frac{n}{\mu}-1}}{(r^\mu + k^\mu)^{\frac{n}{\mu}}} + \frac{t^{\mu-1}}{(t^\mu + k^\mu)} \right] dt \\
&\leq \frac{n}{(r^\mu + k^\mu)^{\frac{n}{\mu}}} M(p, r) \int_r^R t^{\mu-1} (t^\mu + k^\mu)^{\frac{n}{\mu}-1} dt - n \min_{|z|=k} |p(z)| \\
&\quad \int_r^R \left[\frac{t^{n+\mu-1}}{(t^\mu + k^\mu)k^n} - \frac{r^n}{k^n} \frac{t^{\mu-1}(t^\mu + k^\mu)^{\frac{n}{\mu}-1}}{(r^\mu + k^\mu)^{\frac{n}{\mu}}} + \frac{t^{\mu-1}}{(t^\mu + k^\mu)} \right] dt, \\
&\leq \frac{n}{(r^\mu + 1)^{\frac{n}{\mu}}} M(p, r) \int_r^R t^{\mu-1} (t^\mu + k^\mu)^{\frac{n}{\mu}-1} dt - \min_{|z|=k} |p(z)| \\
&\quad \left[\frac{n}{k^n} I_n - \frac{nr^n}{k^n(r^\mu + k^\mu)^{\frac{n}{\mu}}} \int_r^R t^{\mu-1} (t^\mu + k^\mu)^{\frac{n}{\mu}-1} + \int_r^R \frac{t^{\mu-1}}{(t^\mu + k^\mu)} dt \right] \\
&= \frac{(R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}}} M(p, r) \\
&\quad - \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \frac{(R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}}{(k^\mu + r^\mu)^{\frac{n}{\mu}}} + \frac{n}{\mu} \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right) \right] \min_{|z|=k} |p(z)| \\
&= \frac{(R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}}} M(p, r) \\
&\quad - \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{R^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} - 1 \right\} + \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^{\frac{n}{\mu}} \right] \min_{|z|=k} |p(z)|
\end{aligned}$$

where the integral I_n is as defined in (2.4).

Thus we have shown that for $0 \leq \theta < 2\pi$ and $0 < r < R \leq 1$,

$$\begin{aligned}
\left| p(Re^{i\theta}) - p(re^{i\theta}) \right| &\leq \frac{(R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}}} M(p, r) \\
&\quad - \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{R^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} - 1 \right\} + \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^{\frac{n}{\mu}} \right] \min_{|z|=k} |p(z)|
\end{aligned}$$

Therefore, finally, we have the equivalent result

$$\begin{aligned}
M(p, R) &\leq M(p, r) + \frac{(R^\mu + k^\mu)^{\frac{n}{\mu}} - (r^\mu + k^\mu)^{\frac{n}{\mu}}}{(1 + r^\mu)^{\frac{n}{\mu}}} M(p, r) \\
&\quad - \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{R^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} - 1 \right\} + \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^{\frac{n}{\mu}} \right] \min_{|z|=k} |p(z)|
\end{aligned}$$

or

$$M(p, R) \leq \frac{(1 + r^\mu)^\frac{n}{\mu} + (R^\mu + k^\mu)^\frac{n}{\mu} - (r^\mu + k^\mu)^\frac{n}{\mu}}{(1 + r^\mu)^\frac{n}{\mu}} M(p, r) \\ - \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^\frac{n}{\mu} - 1 \right\} + \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^\frac{n}{\mu} \right] \min_{|z|=k} |p(z)|$$

or equivalently

$$M(p, r) \geq \frac{(1 + r^\mu)^\frac{n}{\mu}}{(1 + r^\mu)^\frac{n}{\mu} + (R^\mu + k^\mu)^\frac{n}{\mu} - (r^\mu + k^\mu)^\frac{n}{\mu}} \\ \left[M(p, R) + \left[\frac{n}{k^n} I_n - \frac{r^n}{k^n} \left\{ \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^\frac{n}{\mu} - 1 \right\} + \ln \left(\frac{(R^\mu + k^\mu)}{(r^\mu + k^\mu)} \right)^\frac{n}{\mu} \right] \min_{|z|=k} |p(z)| \right].$$

Thus the desired result is proved.

Acknowledgment

The author is thankful to the anonymous referee and Editor for their valuable suggestions.

References

- [1] N. C. Ankeny and T. J. Rivlin, On a Theorem of S. Bernstein, *Pacific J. Maths.*, **5** (1955), 249-252.
- [2] A. Aziz, Growth of polynomials whose zeros are within or outside a circle, *Bull. Austral. Math. Soc.*, **35** (1987), 247-250.
- [3] A. Aziz and Q. M. Dawood, Inequalities for a polynomial and its derivative, *J. Approx. Theory*, **54** (1988), 306-313.
- [4] M. Bidkham and K. K. Dewan, Inequalities for a polynomial and its derivative, *J. Math. Anal. Appl.*, **166** (1992), 319-324.
- [5] N. K. Govil and E. R. Nwaeze, Some sharpening and generalizations of a result of T. J. Rivlin, *Anal. Theory Appl.*, **33** (2017), 219-228.
- [6] N. K. Govil M. A. Qazi and Q. I. Rahman, Inequalities describing the growth of polynomials not vanishing in a disk of prescribed radius, *Math. Inequal. Appl.*, **6** (3) (2003), 453-467.
- [7] A. Mir, A. Wani and I. Hussain, A note on a theorem of T. J. Rivlin, *Anal. Theory Appl.*, Vol. **34**(4), (2018), 293-296
- [8] G. Pólya and G. Szegő, *Problems and Theorems in Analysis*, Vol. 1, Springer-Verlag, Berlin, 1972.
- [9] M. S. Pukhta, *Extremal Problems for Polynomials and on Location of Zeros of Polynomials*, Ph.D. Thesis submitted to the Jamia Millia Islamia, 1995.
- [10] M. A. Qazi, On the maximum modulus of polynomials, *Proc. Amer. Math. Soc.*, **115** (1992), 337-343.
- [11] M. Riesz, Über ein Satz der Herrn Serge Bernstein, *Acta Math.*, **40** (1918), 337-347.
- [12] T. J. Rivlin, On the maximum modulus of polynomials, *Amer. Math. Monthly*, **67** (1960), 251-253.
- [13] R. S. Varga, A comparison of the successive over relaxation method and semi-iterative methods using Chebychev polynomials, *J. Soc. Indust. Appl. Math.*, **5** (1957), 44.
- [14] A. Zireh, E. Khojastehnejhad and R. S. Musawi, Some results concerning growth of polynomials, *Anal. Theory Appl.*, **29** (2013), 37-46.